ﬁ & @? % Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
8,433 x 10000 = 3,175 x10 =
10, 505 x 100000 = 5,718 x 10000 =
3,501 x 1000000 = 7,914 x 10 =
2,714 x 1000 = 3,531 x 100000 =
2,778 x 10000 = 3,226 x 10 =
4,321 x 10 = 6, 83 x 1000 =
5,997 x 100 = 6,436 x 100 =
2,08 x 1000000 = 3,011 x 1000000 =
1, 151 x 100000 = 2,682 x 10000 =
5,921 x 100000 = 2,166 x 10 =
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ﬁ & @? % Multipliser desimaler med ti

StudentName: ExamDate: __ ExamScore: ____
8,433 x 10000 = 84330 3,175 x10=31.75
10, 505 x 100000 = 1050500 5,718 x 10000 = 57180
3,501 x 1000000 = 3501000 7,914 x 10 =79.14
2,714 x 1000 = 2714 3,531 x 100000 = 353100
2,778 x 10000 = 27780 3,226 x 10 =32.26
4,321 x 10 =43.21 6, 83 x 1000 = 6830
5,997 x 100 = 599.7 6,436 x 100 = 643.6
2,08 x 1000000 = 2080000 3,011 x 1000000 = 3011000
1, 151 x 100000 = 115100 2,682 x 10000 = 26820
5,921 x 100000 = 592100 2,166 x 10 = 21.66
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